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The Common Agricultural Policy (CAP) of the EU

Tasks:

1. Describe the EU budget 2014-2020 with a focus on agriculture (M3).
Contemplating the EU budget proposal for the years 2014—2020, one can see that the Common Agricultural Policy
will receive the largest allocation, € 387 billion. Another € 336 billion are expected to be spent on Cohesion Policy. The
remaining € 287 billion have been designated for Horizon 2020, a research and demonstration fund (€ 80 billion), ex-
ternal policies (€ 70 billion), the Connecting Europe Facility, a cross-border infrastructure fund (€ 50 billion) and other
policies.

2. Watch video 1:
2a) Make a list of facts concerning the importance of agriculture in the EU (e.g. land area, jobs).

12 77% 46
million full-time farmers of the territory is rural million jobs provided by

agriculture and the
agri-foods industries

2b) List the three main aims of the CAP.

(= e
Food - Environment Countryside
ensuring a secure supply of helping tackle climate maintaining the diversity
quality, a ble food for more change and preserving and vitality of European
than 500 million Europeans our natural ressources agriculture

3. Individual solutions
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